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101.

102.

103.

104.

105.

106.

POLITY

Which one is not part of the Panchayat Raj?

a. Smiti b. Village c. Township d. Zila Parishad

abd Q&M LehFTWS JTTHWSHH Ee0enev?

a. gwg) b. &ymob C. &MWL d. &feveor ufans

Which part of the Indian Constitution deals with Fundamental Duties?

a. Part II b. Part III c. Part IV A d. Part V

SbFlw SITFuIeoemLoLiLTe0 SlgLILIenL & &L_6MLD&6IT 6h LGS uled
IS SHIMTHBLILL (H6iTerng)?

a. ursb I b. ursn III c. utstb IVA  d. ursb V

The institution of Lok-Ayukta was established first in the state of

a. Gujarat b. Maharashtra c. Rajasthan d. Kerala
Goumdh-LBST (LPFHET (LHeVIL 61HG LOTHIEVSHHL DIENDSHBLILIL L |7
a. GMUTSH b. smyTadigyb C. JTEQerOHT6HT d. Gsyenm

Who said “The Directive Principle of State Policy is a Novel feature” of the Indian
constitution?

a. K.T. Shah b. B.R. Ambedkar

c. Aladi Krishnaswamy Ayyar d. B.N. Rao

@b ofwevemoliled “ops auflaTih OpBl(wemms CETeaTnd @T 2 6iTeTHLOmet
LewiL|” eTeiiml Snpluigyl wimit?

a. KT. agr b. B.R. oubBugai

C. oIV H(HOGeTFTLO  SIUILIT d. B.N. gmeu

The members of the Central Administrative Tribunal are given status of Judges of
High Court from an Amendment in the year

a. 2003 b. 2004 c. 2005 d. 2006

wHHW  Hroumw 2 muiaTeeErdEd 2 WITHHIWAB  bHUHSESTE  DbHSHVSH
QUPEISILILL FUL FHhHHD CoBosmereniul’ L o el

a. 2003 b. 2004 c. 2005 d. 2006

Which one of the following Parliamentary Committee is Semi-Judicial in nature?
a. Committee on Petitions b. Ethics Committee
c. Committee on Privileges d. Rules Committee

SPHHEWIL.  LUMIT@HOAIMBS — GHWSSH6M60  6bd @h G urdh  BHFH  ufumeve
SHEIEMLOU 6L UIZ]?

a. efewemIILIs G (Lp b. opGpHs G
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107.

108.

109.

110.

111.

112.

c. Apliyflenod @p d. eldé @

The idea of concurrent list was borrowed from

a. British Constitution b. Canadian Constitution
c. Irish Constitution d. Australian Constitution
QUTEIL L IQUIed 6TEID H(HGHSHI GUBLILILL G

a. @miglevnhaHler SIFFwevemolIe0(HbS

b. se_reler ofuieventol el b

C. SlWiTeuTh&Hlet SIFFwievenolILTeV(HbS)

d. o1edCrelwmaiet oyduwieoeamior el Hba!

In which year the Parliament enacted the Official Language Act?

a. 1955 b. 1965 c. 1963 d. 1957

ob® QUBLLD LTITEHLOGIBSHH L Digvieued OILomfl &Ll b SuiBpriilLgl?

a. 1955 b. 1965 c. 1963 d. 1957
HISTORY

The Portuguese Sailor who reached Calicut in 1498 A.D. was?

a. Do Almeida b. Vasco da Gama

c. Robert Clive d. Albuquerque

1498-0 oewiB HeielHCHTLmLmWw SiewL b CumiTdHgHISdul wTeoisdl wimiT?

a. 19 9eLGIUILT b. aumerd@am_smiom

C. JUUTL. &5lenerell d. sopeoysTe

On behalf of the Justice Party, who won and formed the ministry in 1923 election?
a. T.N. Sivagnanam Pillai b. P. Thiyagaraja Chettiyar

c. T.M. Nair d. M.C. Raja

19239110 oewi® HoLouBp CHTHelled BHdsL & griurs Geuppd CGubp oy Henw
SIMLOSHSHT  WITT?

a. T.N. deouepmand etemenr b, P. Hwmsyrey G iguimi

c. TM. mmu d. M.C. gmegr

Who was the founder of the Thiruchenkodu Ashram?
a. E.V. Ramasamy Naicker b. Rajaji

c. Gandhiji d. C.N. Annadurai
HHFQFRICHTH Y FTodHensd HmieluleuT wimT?

a. #.GaLymoaTol [HTUIGST b. pregred

C. BMhFH d. C.N. oewienimgieny

Annamalai University was started in the year

a. 1915 b. 1929 c. 1921 d. 1945
S|6TTEHITIDENGED  LIDHMEVHBINHID TIDLISSIILL L SewT(h
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113.

114.

115.

116.

117.

118.

1109.

a. 1915 b. 1929 c. 1921 d. 1945
Which congress conference was attended by Bharatiyar?

a. Surat Conference b. Madras Conference

c. Bombay conference d. Lucknow conference
6b%H HMRISITEO OTHTLIQEL UMFHWTT H6evbSHI ©OSBTewTLTiT?
a. &J% LMBIH b. Goeener THTH

C. uwumul ombIh d. evéEGerm IHTH

Who extended co-operation to Puli Tevar?
a. The French b. The English

c. The Portuguese d. The Dutch
Le0HCHaUHBEGH UHT| OBTBHHUTHET WITT?
a. LOyehaHHMTHei b. symFGeowiaseit
c. GumiFaafwimsel d. L&sssnyisel

Who converted Mahendra Varma I from Jainism to Saivism?

a. Sambandar b. Appar c. Sundarar d. Perundevar
(WFHeVTD LCHHATUTOMET MM GHSHH(HHSH WFel LHHHME rmBsluIeuT wImr?
a. FUbST b. @wuT ¢ &bBIT d. GumbCmeu

Name the chieftain who patronized Kabilar

a. Ay b. Adhiyan c. Pari d. Anji
slileveny aflda Cursplw fbpraT Cuwenysd GBUIGS
a. ol b. @iguwier c. umf d. oiehd

In which year Madras Mahajana Sabha was started?

a. 1881 b. 1882 c. 1883 d. 1884
abd UeWIB OFerener ST Fenll CHTBmIeNSELILLL $I?
a. 1881 b. 1882 c. 1883 d. 1884

The Constituent Assembly of India was set up according to the proposals of
a. The Cripps Mission b. The Cabinet Mission Plan

c. The Mountbatten Plan d. The Nehru Plan

@hHw  SFFwevemoli]  Hitewiw  Feou  WMHedLW  (petbomiflallelr  SigliLienL uiled
IBUBSHBILIL L SI?

a. Aifllied  1lergest b. GaLien 10agesr Hi L ib

C. aew GuL L 6T FH LD d. Grm S Lib

Where was the first Indian National Congress met?

a. Delhi b. Bombay c. Calcutta d. Madras
WHe0 @hHw CHAw sTmSFeriler Fal LD 6hIE dnlguigl?
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120.

121.

122.

123.

124.

125.

a. G_svel b. ubumu C. HLBHDHT d. Ggetene
The Forward Block Party was started by whom?

a. Subhash Chandra Bose b. Motilal Nehru

c. Rajaji d. Raja Ram Mohan Roy
Cumeu® Wenmés sl & wnmymed OHTLmIsLIuL L g)?

a. auted ghdly Gumerd b. Guorglevred Gm(H

C. gregmed d. gregm gmib Guomesest [FmUl

Who assumed the title “Chittrakara Puli”?

a. Rajaraja I b. Narashima I

c. Mahendra Varman I d. Nandhi Varman
“FeHATHETIiLel” 61 al(hdl OLUWIT @@L L UL L  D6STeNT WImT?
a. (LPSHEOMLD  JTEITTEI60T b. upgeomd Bylibiest
C. (pH6VTD  0BH[HE TEUTLOGT d. mpHSHeuioest

Who started Home Rule Movement in India?

a. Annie Besant b. Sathiya Moorthi
c. E.V. Ramasamy d. K. Kamaraj
@hHwnaled HeteT & QuisssHmd DIDLISSHeT WTT?
a. ol CuFesT b. ss8w cpTsHd)

c. F.al. Quiluimit d. ®. smograt

Tamil Books were printed firstly by whom?

a. Rev. Zieganbalg b. Rev. Schwartz

c. Rev. Grundler d. Robert De Nobili
(LS (PHeUTS S LHSHBHISmeT DIFFLL 6T wimir?

a. FHGIT6VE SQUIT b. &eurmerd umgMwim
C. GH(HEWIL 6D SQUIT d. gmum’ 19, GBmIed

Which Act provided Provincial Autonomy to India?

a. Rowlatt Act - 1919

b. Minto Morley Reform Act - 1909

c. The Government of India Act - 1935

d. Montagu - Chelmsford Reform Act - 1919

bs FLLILD @HHwMaIBEG WIHev FWT S DHBTTHMSH eURIHUIHI?
a. Qyemevl &FU LD - 1919

b. Wer@Lm el SMHmIHH FLLb - 1909

C. @bHw SFThs FLLID - 1935

d. wrew@L@ OFerd.".Buri® ST mSHF FLLb - 1919

Whom of the following was the Chief Organiser of the Revolt of 1857 in Bihar?
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126.

127.

128.

129.

a. Amar Singh  b. Kunwar Singh c.Pir Ali d.Imaduddin

18570  ouewihp  HeBSHHler  Curmkl  SpdbSewiL  BLITH6IM6D
Q(HHISIEEILILITENITS G HHSHUT WT?

a. SIOTFmI b. seeutt fm ¢ T 916 d. Bioge e

GEOGRAPHY

Humboldt ocean current is otherwise known as

a. Kuroshio current b. Oyashio current

c. Peru current d. Florida current
anbBureol. HOITL LD SeleuTpTaa|b SSwlLGS MBS
a. &Cymagwr BT LD b. @umad@umr BGym L 1b
C. Gumm mBBym LD d. yGemmAlLm BGym LD

‘Sea smoke” is common in

a. Equatorial region b. Desert region

c. Atlantic ocean d. Arctic region
‘BLED WD FTHMTCIOTS STl B

a. ywsHsw Crewsd UG b. uremeveues LIyGsaid
C. ol eumenngds Guymp d. eyngs UG

Name the place where the Rive Ganga and Yamuna joins?

a. Allahabad b. Hyderabad c. Delhi
HHIND MID, WP BID FhAHGD B SHIHlei GLIWIT 6TedT60r?
a. SEVBTLITS b. ewamsyTuTs C. GLeveVl

Which of the following statements regarding soil are correct?
I.  Soil is a dynamic natural element.
II. Itis composed of both mineral and organic matter.
III.  The characteristics of soils depend on parent rock.
IV.  All the soils having a well developed soil profile
a. All are correct b. I, IT and III are correct

c. I, IT and IV are correct d. I, III and IV are correct

Lelteubld et GPIHSTeT euTdhSWmISeled FiuimearenelseT eTeneu?
[. 1oewr LOTWID HeSTNID OBHTEWIL BUIBeND SHTT6ewfl.

II. Gmeaser HTHGH6T WLBBID 2 UNT DL GSHENT60 DLETENE.

LigsrmiT

III. @Gmeaseaier Uiy 2 (Haurer LTedBUlmeT GUTBIHEH DiEIDFH GIBIH.
IV. somaisg  wem  alendsehld  auenTFFumLbsd GHBIHEG el B CHTbmsHmes

OB T6WNY(HEGLD.
a. SlmAHSHID FHGW b. L II wppw HI w @b g
c. L II wmpd IV wl G af d.L III wBp IV w@Go &

Lyl dlullesr

d. Agra

d. sudpm
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130.

131.

132.

Match the following :

A. Ranthambore 1. Assam

B. Manas 2. Jharkhand

C. Nagarjuna Sagar 3. Andhra

D. Palamala 4. Rajasthan

E. Indravathi 5. Chattisgarh
A B C D E

a. 4 1 3 2 5

b. 4 2 1 3 5

C. 1 4 3 5 2

d 3 1 4 2 5

QUIT(HSHHIS.

A. JeISHTIDLLT 1. oMb

B. womemerd 2. SQMTHGNWIL

C. praniTegeen FTai 3. SubBSIT

D. umevipsv 4. @ITEerOSHT 60T

E. 8balymeug) 5. FHHENOBIT
A B C D E

a. 4 1 3 2 5

b. 4 2 1 3 5

C. 1 4 3 5 2

d 3 1 4 2 )

ECONOMICS

Which of the following programme aims at the promotion of savings among rural
women?
a. Jawahar Rozgar Yojana  b. Pradhanmantri Mahila Yojana

c. Rashtriya Mahila Kosh ~ d. Mahila Samridhi

UeieumeueiauBmiell  aTSHFHIL LD  Hyrolys  waeiflear  Cxlllieny  oam&GallILgBaETs
SIMDSHBUILIL L FH)?

a. geauamT GrmegsT GuirgleT b. tpsrenobaf wélenm Guirglet

c. gradl fur waenm Corad d. wdent Fiofig)

Which of the following policy brings 5 lakh acres under organic farming?
a. Shrama Prasad Mukherji Rurban Mission

b. Pramaparagat Krishi Vikas Yojana

c. Pradhan Mantri Krishi Sichai Yojana

d. PM Fasal Bima Yojana
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133.

134.

135.

136.

B 2 6i6n aHOFMeITend 5 UL FID GHBHT Hevmibenen Suikiend GouemTemieniouledl &SP
Osmewi(h aU(HEUSI?

a. WImDT UFamsd (pHTegl ehHiTL6T LOle1pest

b. ugbwmuyss sfad alarerd GuiTglett

C. UgsTaiopaHfl Sfad agdberomus Guireiet

d. M.enb. urFed iom GuimrelentT

NREGA gives guaranteed employment for

a. 50 days b. 100 days c. 150 days d. 200 days

Gxpflw eomys Geuemev euTWINLSH LD, Geouemev 2o SHHTaUMHID SleMdb@GHD BT Herien
6160016301156 B

a. 50 BIL &6 b. 100 priser ¢ 150 mmiser  d. 200 BT &6l

When was the “Industrial finance Corporation of India” established in India?

a. January 1, 1950 b.July 1,1948 c. June 5, 1951 d. May 1, 1950
‘@BhH OFHTHeL HHEBHD’ hHwmaled elCUTIDS FBUBSSIILLL GI?
a. geeufl 1, 1950 b. egemev 1, 1948 c. sgreir 5, 1951 d. Gw 1, 1950

Which is the biggest nationalized enterprise?
a. Bharat Sanchar Nigam Limited

b. Indian Post Department

c. Indian Railways

d. Oil and Natural Gas Commission
Wsluflw QUIgISSHImB Hinleued 61gi?

a. L.ererv.ereir.eted (BSNL)

b. @b Siehsed iy

c. @bgsw BruievCeu Hiemm

d. eremiQemtul erfleumuy MSmieueTiD

Golden Handshake Scheme is associated with

a. Establishing joint enterprise

b. Inviting foreign companies

c. Private investment in public enterprises

d. Voluntary retirement

SHhH MBGHNGGHWD HL LD DS 6T COFHTLTLENL WIS
&L (B HBICUATHIGM6T 2 (hHEUTEEGH6D

OouelBTL(h HBICUETHISEm6T DIENLDEHFHED

OII&F Hpleuemiseied SHelwimT (1p5H6eddH

all(plL guiey

oo
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137.

138.

139.

140.

141.

Which of the following scheme has the objective to skill 1 crore youth in the next
three years?

a. Start up, stand up

b. PM Kaushal Vikas Yojana

c. MNREGA

d. Deen Dayal Upadhyaay Grameen Kaushalya Yojana

Leiteu(pld 61bdh SHLLID DIBGHD cpaiipl penibHelled e Comg SemenehiTdeilen SHlme
Goum i 9BsTes 2 (HeuTdhsLILUL L &)?

a. GOLMTL I, eOLTEIL iU

b. .enb. Gmengev almmerd Guirelestm

C. 6ILD.6T60T. YT.E).03).61

d. Seswmer o _urdwmul Symder OQsenageouwt Guimege

Which among the following industries generates invisible exports?
a. Fishing b. Tourism c. Jewellery d. Handicrafts
LTeiTau(HaueTaUBmIT LeOUILLTS gimindlenul CHmmmiailitig)

a. ey GQmpmbev b. sBmieoT Hienwn

C. gLgent GHmPed d. evaalmeniOLT(HL_Hei

As per 2011 census the total urban population in the state of Tamil Nadu is

a. 27.48 million b. 34.95 million

c. 36.04 million d. 42.50 million

2011 1&H6lT CFHTemd HewidboBBUIIT Ly SHOWDBTL 1960 BBTUDB LDHH6T CHTnd
a. 27.48 186ve w6t b. 34.95 1606 uiest

c. 36.04 1fevedlutest d. 42.50 1eveVluiest

Which district of Tamil Nadu produces the highest output of food grains?

a. Villupuram  b. Cuddalore  c. Thanjavur  d. Nagapattinam

SODBTL 1960 61HFH LOTEUL L SHFH60 2 60| SHTENULBIGET DHFBOTS 2 BUSH LTS BSI?
a. eN(priyib b. &g C. HEHIFTUT d. mraiiu’ iged

What is the aim of Pradhan Mantri Gram Sadak Yojana?

a. Provide all weather road connectivity

b. Provide all weather to telecommunication connectivity

c. Provide food security in all seasons

d. Provide education to all people

“Urgaio wophAM Sgmo gLrd Cunmert” FHiLsHear Crresd (GNSGHTer) 61g?
a. OIMAAUHEGSGID DIMDIHFH! LIHY HTUMIBEHHGHD FTEN6L QUFHBHENET DIGNHLDSHFH60
b. Oxmemev OFHTLITL UFHBM6NT HIOBHBHI LI[HE! SHTEVRIBEHHGD GBL  DIELOSHH6V
C. SIMAHFH L(HoY HTeURIGBTNeID 2 6wiey LITHISTIL 6Fu1gHe0

d. er60BeummEBGI Heval euFd gmuTh GFuigsHev
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142.

143.

144.

145.

146.

National Agricultural Policy aims at a growth rate of % per year.

a.3% b. 4% c.6% d. 8%
Cxpdlw Gouenment GdTeTeNHWITOIH SLeWI(HES gFHeisH euanTFFenw GrpréHsLons
OBTewI(H6eITeN G
a.3% b. 4% c. 6% d. 8%
BOTANY
What is phototropism?

a. movement of plants towards chemicals

b. movement of plants towards light

c. movement of plants towards soil

d. response of plants for day length
Gum’_GLmgmiieroldb 6T63IMBT6L 6T6vT60T?

a. Geyseaier Gougl GuImeT GHTHESIW Buissid
b. Qyseier qaf GHTSIW Buidbsld

C. Ogyseaier wenr CHTHHW BuIsaLD

d. Qsyselen @efl smTevdha elene

In higher plants the saprophytic phase is formed after growth and development
of the zygote. Point out the type of cell division involved in this growth.

a. Mitosis b. Meiosis c. Amitosis d. Zygotic meiosis

o Wit euemd Hreugmideaier eroCUTCITemLIL 198 Blemev MFCHTL 196 aueTEFS OTHBBSHHTEL
2 _(HUTSHBGH. 6HH aumd Oged Llflea @ GFweLBIBEH 6aLmS GFL19HST(H?

a. enwoL_LmerSlerd b. wlwmenderd

C. gJeMIDL_LTenSlerd d. maGam g lwimenierd

Kuhne’s tube can demonstrate the process of

a. Fermentation b. Germination of seeds
c. Growth of plants d. Aerobic respiration
G0 GTUI 6% Haemer HlepLld@b?

a. GBETHHH6e0 b. aleng (LpewerndgHev

C. HTAUT GUETTHS] d. stBpienLw seurdlggHe0

The crop which gets affected by pink ball worm is

a. Banana b. Wheat c. Mango d. Cotton
Benehdleuliy LbG Ljpeumed UTHdbslup Lullir
a. eUTEnLD b. Gsngienio C. Lom d. umsHd
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147.

148.

149.

150.

151.

152.

ZOOLOGY

A preparation of living (or) killed micro-organism (or) viruses used in prevention
of diseases through immunization is called

a. Toxoid b. Vaccine c. Viremia d. Anti-toxin
o uflmeiten (o) o2 ulgmm Hiewienlw o ulflamseT (9) meugerddemen B 2 L Va6l
CFavIHF BIDEHE 6IHTI FHHmu 2 (HauTdHGHaSMBG, eleren GuuwiT?

a. Lmsbamuif b. s@mULS c. elfibluwir d. edr-pFa
The source of energy in any eco system are

a. Osmotrophs b. Autotrophs

c. Lithotrophs d. Heterotrophs

GLbmlemeouluiedell SBmedledt (PSS DLSHTTLD
a. oLeBT wewi b b, oy GLT 106w 60LD
C. @oifl LDEWIL 6VLD d. GeueuGeum LDGWIL 6VID

The Acid Rain destroys the vegetation, because it contains

a. Nitrates b. Ozone c. Carbon monoxide d. Sulphuric acid

IOV  EMPUITRISHI DIMDTHSH SHTUTHMBUID DILSHGSGID SHETHOULMLUIHI 6160160  HIF6D
DILEIFH 2 _6iTemenel

a. empl Gy b. @Bsmer c. &niuer GoTEITHMF([H d. seoriwyfe oudevd
PHYSICS

1 Femto is equal to m

a. 10 b. 1015 c. 105 d. 10

1 QuibGLm (Femto) = WL LT

a. 10 b. 1015 c. 105 d. 10

What is the value of gravitational field at the centre of the sphere?

a. zero b. % C. M d. -GM /r?

r
Gament yeiterll emowihFHlev L@y LeodHHler g wng?
a. & b. % C. M d. -GM /r?

r

Which of the following is sensitive to ultrasonic waves?

a. Man b. Bat c. Bird d. Fish
Cxpenm gellenwl 2 ewi(HD HeTMD WM(HHE 2 _6iTengl?
a. Leigen b. Geuermeured C. LBem6Y d. 1S
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153.

154.

155.

156.

157.

158.

What is the basic concept of Raman effect?

a. reflection b. incoherent scattering

c. coherent scattering d. refraction

IS allenene)] 6 HSHBHIUHMSH DQLILIHL LTSS O\BTewIL g7

a. ygluedlii b. @ddevevr @ef&FdHmed

C. 55 @eNFHBHBe0 d. efl alevsed

CHEMISTRY

Which one of the following is the correct composition of Brass?

a. Cu-50%; Sn - 50% b. Cu - 60%; Zn - 40%

c.Zn -70%; Sn - 30% d. Fe - 40%; Ni - 60%

spdbaamiauBnfled Llshsmenuler Fflwmer o Geonadsevenauuls FHaiHd 6ree?

a. Cu -50%; Sn - 50% b. Cu-60%; Zn - 40%

c.Zn-70%;5Sn - 30% d. Fe - 40%; Ni - 60%

The Epsom salt which is used as laxative is

a. MgSO4 . 7H.0 b. CaSO, . 2H,O

c. ZnSOy . 7HO d. CuSO, . 5HO

eVLD @EMSHWITS LWL SHanlgul 6ILIFID 2 L] 61517

a. MgSO, . 7H,O b. CaSO, . 2H,O

c. ZnSOy . 7HO d. CuSO, . 5H,O

What happens in the reduction process?

a. loss of electrons b. gain of electrons

c. loss of hydrogen d. gain of oxygen

pbds almeiuled SpshameniauBnled sleten Hlapamg?

a. 616V&BL_JTeIIE6IT B)IPLIL] b. et6081 JT6IIH6IT 6Ji3L

C. B Je6s @IpiiL] d. eysenfizger gy

Galena is the ore of which of the following metals?

a. Silver b. Lead c. Gold d. Iron

&0 GTaTLIG SlpdhHeniauBpled 2 eiten 6% 2 GeursdHHlen HTHILIGLIT(HET?

a. Geueiter b. smfuib C. HBIBLD d. &by
GENERAL KNOWLEDGE

The concept of Goods and Service Tax (GST) was originated from

a. Canada b. USA c. Britain d. Germany
QummeT B CFemeu eufl eleiL I CTHBTL 1960 GHTersiuig)?
a. eI b. &60fds msHw BTH C. LML Lot d. Gegimioet
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159.

160.

161.

162.

163.

Which of the following agricultural commodity of India gives largest interms of
export value?

a. Tea b. Basmathi Rice c. Spices d. Cotton

Ueteupd  etelGouenmemionty 2 BuUSHEH  @bhFHwTalel HSHETear  gBEpIod  LFLIemL
SHAFBSI?

a. Gzuilemev b. umedind) ofld c. poioewr cpligser  d. UBSHS
Name the dam constructed across the River Sutlej

a. Hirakud dam b. Bakra Nangal Dam

c. Kosi dam d. Mettur dam

gloomy omnlent GmISCs S L LI Beiten Sienemntulledl GILILIT eTedT60T?

a. afiITGL Sienemnt b. UGTT-HEBIGEE DieH6NT

c. Card) sjememt d. G BT oiememt

Where was the first nuclear reactor of Asia established?
a. People’s Republic of China b. Japan

c. Taiwan d. India

HFU HEHILGHH6L (IPHEOTAUH Die 2 6160 61HIG Hmeul L gi?
a. IDh&H6N FOIH  (GHQUITSH b. egriLimest

C. MSHEUTEH d. @pgHuwir

Black revolution is related to

a. Fish production b. Coal production

c. Crude oil production d. Mustard production
SHIL UJL & @ Henll 61 QHTLTLemL U]

a. 18e1 2_BLHH) b. Hevdsf 2 BuSHH

C. HFFT eTemiOeurll 2 BLS) d. 56@ 2 _BusHd)
Identify the mismatch.

a. White revolution - Milk

b. Green revolution - Food Grains

c. Blue revolution - Fish

d. Yellow revolution - Flowers

FHoumpner QUT(HSHBHHMWHH HewIBLIGSHSH6LD.

a. Qeuewtentp Ly & - LITG0

b. useno Yy - ® awie) SHTeNWID

C. b6V Lyl &l - L5601

d. wehger Lyl g - L& 61T
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164.

165.

166.

167.

168.

The national fruit which is common for Phillipines, Pakistan and India is

a. Banana b. Fig c. Mango d. Jack
LNeVllIenU6sTed, LITSlerdgTest oBmid @baHul Brhdeiler oumgeurer GHdlul Liplb
a. euTenLp b. ©158 C. LT d. ueor
CURRENT AFFAIRS
India’s first bio-fuel flight was operated between
a. Dehradun to Delhi b. Dehradun to Mumbai
c. Dehradun to Kolkata d. Dehradun to Chennai

@pswralear  pgHev o ulfl-erflourmer  alomend  Seualm  HHIWIGBEHHH ML G
BuISsLILL L G|

a. CLym@a&r - GLeved b. GLyr®@er - (pLbemLI

c. CuymBer - GBTELBHBT d. GLgn®enr - OFesTened

In which of the following states, more number of people were affected by 2018
monsoon?

a. Kerala b. Assam c. Andhra Pradesh d. Megalaya

&SP o _eiter GTLDLOMHI60&H FHl60 2018 LI(TH6u LoemLpu T6aTTe0 DFHB LD 61T
LTS LIB @G 6iTerT &l 6otiT?

a. Gaiyerm b. siervermbd c. obAHTITCsHaD d. Gusasmeowim

In which city the first Nepal - India “Think Tank Summit” was held?
a. New Delhi ~ b. Kathmandu c. Dehradun d. Kolkata

abhBETHH60 (pHev Crumen bHwir “Think Tank wrETG” HewL CLIBBE?

a. UslgeveV b. srgioei(h c. GLymBeor d. QaTevEHHT

The campaign to create awareness among children to identify sexual abuse is
a. Safety is in your hands b. Our safety, our rights

c. Save child, save future d. Child safety in police hand

Lmellenl  HISILBISHSHNE0 SIWLWITEND  &Tewl G hmdHeienL Cuw  allfiliewniTe) egmuL
Gumesmeeniu’ L LIFFFTyD

a. UTHISTI] @ 6T e»HuUlled

b. Bb uTEIETIL BID 2 Menip

C. GWHMS UTHISTL 6IHITHTe0 LITSHISTLIL

d. Gwhms UTHISTL STAIOHIMB MBHUT60
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169.

170.

171.

Match :

Tribe Region
A. Masai 1. Angola
B. Saami 2. Kenya
C. Kalinga 3. Philippines
D. Bush men 4. Siberia
A B C D
a 2 4 3 1
b 2 1 3 4
C. 1 2 3 4
d 4 3 2 1
QUIT(HSHHIS.
LILDMBIG 19U N6oTT (€553 )
A. amul 1. omBsTe0T
B. smfd 2. Qaedtu
C. ®60misT 3. edlienLieiTerd
D. yst welsitsel 4. engLifwim
A B C D
a. 2 4 3 1
b. 2 1 3 4
C. 1 2 3 4
d 4 3 2 1

According to 2018 - 19 budget report, India is at third rank in
a. Purchasing Power Parity (PPP)

b. Gross Domestic Product (GDP)

c. Agricultural Production

d. Foreign Direct Investment (FDI)

2018 — 19 Mg mewev OMidemal L Laeumbd eTeuBmieT @HAWT  p&IBTLOL &d5l60
o eitenig)?

a. UTRIGLD HBEIT FLOHlen6v b. Qorgs o 6T (h o BLHS

C. Gauenewt ©_BLIGHH) d. oppuw Ghyy (1pHeSH

Which currency is recently added in the currency basket of IMF?

a. Japanese Yen b. Chinese Yuan

c. Indian Rupee d. Brazalian Dollar

BT B Brewrwd FlugHed IMFE-a1 mrewiuis gnenLuied Gamdbsli L gi?
a. muumefer Guies b. engemaler ujeumest

C. @b&Hw epuTUl d. WGrHedwiesr Lmeuit
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172.

173.

174.

175.

176.

177.

Budget 2017 has proposed as the front office for issuing passport in far
flung areas.
a. Airport b. Telegraph office

c. Post office d. Railway station

2017 mFpemev MiGmaulsd OHTemev HMT UGHHHB6M0 SLOUYFFL(H UPHIGSBE
(PHMID DIVIOIGVSBIOTS DSOS BLILLL G 61517

a. elomTer [HeneoWID b. b8 SivIaIe0BLD

C. LT HeNEVUILD d. yenseuewty Hleneouid

The facility announced for Senior Citizens in Budget 2017 - 2018 is

a. Aadhaar enabled smart card b. BHIM App

c. Shakti Kendras d. Pension Scheme

2017 — 2018 HHBMe0 DPBHMBUND (PHDH BHQLEHHEHHHTH DPlalSSILLL  UFD)
a. SLFHTHLET BeneidbBlIll L aoonTl. oIl b. 19.61&.8.61D. GFuwiel

C. 553 MIOWIBIBET d. guiendur &L b

World’s first Block Chain Bond was launched by

a. Reserve Bank of India b. World Bank

c. Hong Kong Bank d. State Bank of India

o eudlar (pHev Block Chain usApHmad PlWalILGSH W eubid)

a. @bFHw fgirel aumIs) b. 2 & aumid

C. QUBTRIGTHI  GUMRIE) d. 8pHur 6B eumid)

Metro Rail Service is available in

I. Chennai II. Coimbatore III. Trichy IV. Madurai
a. I only b.Tand IV c.land I d. Il and III

Qo Gym gulled Caemeu eugd o silen G LD

[. G5 esTement II. GamuibLggm III. Hmpsd IV. gieny
a. I o @i b. I o G IV c. T @ IT d. IT o @ 1T

APTITUDE AND MENTAL ABILITY

Find the area of the iron sheet required to prepare a cone 24 cm high with base
radious 7 cm

a. 704 cm? b. 702 cm? c. 700 cm?2 d. 668 cm?

24 Qg5 o wguwpld Susbs b 7 GF15 GstemiL  giby swmfés  CoHemeuuwlmen
BB HBLIQET LITLIL| SHIT6wIH

a. 704 cm?2 b. 702 cm? c. 700 cm? d. 668 cm?

The sum of the series 31 + 33 + ....+ 53 is
a.729 b. 341 c. 504 d. 604
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178.

179.

180.

181.

182.

31+33+....+53 ee0iB QOFHTL_MeT FnBH6O 6l6dT601?
a. 729 b. 341 c. 504 d. 604

At what rate of interest compound interest per annum will Rs.640 amount to
Rs.774.40 in 2 years
a. 8% b. 9% c. 10% d. 11%

WG Sl B ellguied eIl  FHAHHHMEG 5H.640 dIH BTG SLeNI(HH6ITED
(h.774.40 &GLWD?

a. 8% b. 9% c. 10% d.11%

A circus tent is cylindrical to a height of 3 m and conical above it. if the base
radius is 52.5 m and slant height of the cone is 53 m, find the area of canvas
required to make the tent

a. 315 zm? b. 3097.5 7 m? c.2782.5 7m? d.2997.5 ~m?

QM gFTHHeL SLMTIOTEIEH 3 5 o wypeTen o (hewemulel W& &bl SIeDbHBHTH
GuUTElB  AUYAISHIHVIGTENH. DIHBT Dlglilibsd QD 52.5 15, gwlbliesr Fmujwgd 53 1S
oTe60, DIBGL I DIMLSEH CHemeuwimerr Hohapmer Hlewluller LFLienLd HenrshdBd

a. 315 zm? b. 3097.5 zm? c.2782.5 zm? d.2997.5 zm?

Six men working 10 hours a day can do a piece of work in 24 days. In how many
days will 9 men working for 8 hours a day do the same work?

a. 10 days b. 15 days c. 20 days d. 25 days

6 o6l @@  Geuemevedwl BTOeMTaIBISG 10 wewll CoID  Gouemev OFUIFH 24
BT H6Me0 (PQLILIT. 9 oewisel, BHTOeMTeIBISE 8 el GBI GCouenev GEFUISHT6V,
THHMe BT H61Me0L DI6IGaIMEVMUI (LPIQLILIT?

a. 10 I ser b. 15 pBm sei C. 20 BT &6l d. 25 @B sei

A can finish a job in 20 days and B can complete it in 30 days. They work together
and finish the job. If Rs.600 is paid as wages, then the share of A and B

a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

A e @ Gaimevenuws 20 BT &efed, lo  eaiLeT 8% Gauemevenus 30
BT S6eMeod (liuf. Smeurmd Gaibgk GCeouensv CFUIH, DieIGsaumevenwl (PIYSHSHI €mh.600
&M FHRIGBET aUHeUTWTEL GuBpeT eleflsd A Bpid B &1 umig ereite?

a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value
of x.

a.25 b. 24 c. 30 d. 26
18, 41, x, 36, 31, 24, 37, 35, 27, 36 Qeumnilest gynam 31 eediled X-631 O] eTewTenr?
a. 25 b. 24 c. 30 d. 26
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183.

184.

185.

186.

187.

188.

9°x18" .

The value of 3TIS
a. 2 b. 4 C. 16 d. 32
3 9 81 243
3 4
9 ;%8 60T LOGHIIL
a 2 b. 4 C. 16 d. 32
3 9 81 243
The cube root of 0.027 is
a.3 b. 0.003 c.0.03 d. 0.3
(0.027) i1 @6 ewpsvld
a.3 b. 0.003 c.0.03 d. 0.3

Complete the series 1 ZA, 3 YB, 6 XC, 10 WD, ?

a.14 VE b. 15 UE c.12 VE d.15 VE
1ZA,3YB, 6 XC,10 WD, ? aiesi3 auflengenui mlylis
a.14 VE b. 15 UE c.12 VE d. 15 VE

The product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the
number is

a. 320 b. 1605 c. 1595 d. 8000

O elewidpeflel  OUBHBHHO OHTewd 1600 wWBLID Sieweusefer 15.0UT.eu 5  eTefl6d
oTeTabeNl6nt  LO.&.1D. G LD.

a. 320 b. 1605 c. 1595 d. 8000

In how many years will a sum of Rs.1,600 amount to Rs.1,852.20 at 5% per annum
compound interest?

a.3 b. 4 c.5 d.6

51,600 S 5%  pewih Gl (B eully QiBD QBTENIH  THHME  DLEWIHH660
¢h.1,852.20 &ML &&GHLD

a.3 b. 4 c.5 d. 6
Simplify
F(HHGHD
(—lj—{l+(gx§}|—8—[5—l—l}}
3 3 7 2 4
a. 22 b. 54 .5 4. 24
60 60 60 60
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189.

190.

191.

192.

Given the Pie Chart. Obtain the pass percentage of student who passed in 1st
class.

Passed in First Class
Passed in Second Class ~a

Passed in Third Class

a.35% b. 30% c.10% d. 25%
@by el elendsll ULSHIHHSH  OTewIeUTHeT  (PpHe0 UGl  CHiTsd
CuBBeTHeGH al(HHTH 6160160 ?

_ W&o Lo Csiés
@ramLmb auGIID Gairéé :

Ggirad) Quprgeufisar

(y)drg)mb agudae Coiredl -
a.35% b. 30% c. 10% d. 25%

The principal amount triples itself at 8% per annum over a certain time. Find the
number of years

a. 20 years b. 25 years c. 30 years d. 35 years

om GEIILL oFotaid 8% el  aisHHe0  dHHmT  eu(HEelled eyl
LDL_BIBTEGHLID 61601  SHITe00IHb.

a. 20 GU(HLBIGHGIT b. 25 eumLmIGeT €. 30 eumLBIB6eT  d. 35 eUHLBIG6IT

What number should be subtracted from each of the numbers
54,71,75 and 99 so that the remainders may be proportional?

a. 1 b.2 c.3 d.6

54, 71, 75 wBBID 99 616IB QEIGIEUT(H 6TENIEMIL DI 6l[HFH 6TEWINEMIS HLHSHHTEL HIH6T
Balb 10 alHHHHe0 D(HBHGW?

a. 1 b.2 c.3 d.e

Find the G.C.D.of & -1 and & -1
a. 4 -1 b. a+1 c.a-1 d. a-1
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193.

194.

195.

196.

197.

198.

a-1, & -1 Qe 15.60UT.6u. SHTEHIS.
a. a& -1 b. a+1 c.a-1 d. a-1

What percent is 5 grams of 1 Kg?

a.5% b.1% c.0.5% d.0.2%
1 &Geom dymim@ 5 égmb % eresien?
a.5% b.1% c. 0.5% d.0.2%

Area of a square is % hectare. The diagonal of the square is

a. 250 metres b. 100 metres c. 5042 metres d. 50 metres
RH FHITSHH T LFLILeTE] > JHBIT, 6160 FHTHIHT cLpenevaIL L LD LS LD.
a. 250 UL b. 100 B Lir C. 502 1B L d. 50 WBCLi

The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are in
the ratio

a.27:75 b.27:125 c.81:625 d. 729 : 15625

A Camemmisefle LBLUTUUTaSET 9 : 25 6B alSHHHe0 2 6iendl. DieuBmler SHer
SleneHeiflen aildlHLd

a.27:75 b. 27 :125 c.81:625 d. 729 : 15625

Find the difference between simple interest and compound interest for a sum of
Rs. 8,000 lent at 10% p.a. in 2 years.

a.Rs. 70 b. Rs. 80 c. Rs. 90 d. Rs. 100

. 8,000-5& 10% ey oinsHed Byawih SUIHHeMN0 B EGWD Gl B I 19&HGID,
Sl LSS 2 66N AlGHGHUTFSHMBDH HTEWIH.

a. em. 70 b. em. 80 c. ap. 90 d. en. 100
atb bt+tc c+a .
If = == = k, then the value of kis
C a
a.0 b.1 c.2 d. a+ b+

atb bt+c c+a

= k eteofled K651 DAL
c a

a.0 b.1 c.2 d. a+ b+c

The ratio of boys to girls in a class is 4 : 5. If the number of boys is 20, then the
number of girls is
a.15 b. 20 c. 25 d. 26

QH GUGLILTIGD LOTewIaUTSH6NT, LOTewIalWITEH6T al&slFHd 4 : 5 TenieuTaHerNesn  6lewremndHemnd
20 etedfleL omemoTewifledt eTevvT6EmHEMSH
a.15 b. 20 c.25 d. 26
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199.

200.

A man sells two wrist watches at Rs.594 each. On one he gains 10% and on the
other he loses 10%. Find his gain or loss percent on the whole

a. Loss % =90% b. Gain % =5%

c. Loss % =1% d. Loss % =7%

B MBEBYITIRIHET QelleUTEImBUD H.594-5& @HeUT alBmIT. @eleuTm alBBEHed
10% @®evmugpd w@Bmaed 10% BULIPD DlUBHESG GBULLSE. OTHHHHO DIaUHBE
gBULL BeUTUID 8I6LLH Bl L FHATHID HTeHISH.

a.pLL gsaisbd =90% b. Beuru saisbd = 5%

c.plL gxaisd =1% d.plL gzeisbd =7%

312 213
Simplify: M

(24y2x34x44
a. 7% b. 7% C. 6% d. 6%
TOEO® (24 )_2 x34x47?
a. 71 b. 71 C. 6z d. 6§
9 8 9 8
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